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1. INTRODUCTION

References to published literature should be quoted in the text in square brackets.
Number all references to the literature in a single sequence in the order in which they are
cited in the text and list them together at the end of the paper. For example: [1, 2, 3, 4, 5].
Author biography should be added at the end. Example of an equation:

a = b+ c (1)

that should be indented.

2. SECTIONS

Section titles should be all capital letters. Example of an unnumbered list:

• An unnumbered item

• Second item

and a numbered list:

1. The first item
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2. The second item

Example of math formatting in text. For a group G of n (> 1) processes p1, . . . , pn,
a vector V is in a form ⟨V1, . . . ,Vn⟩. Every process pi has a vector V = ⟨V1, . . . ,Vn⟩ where
each element Vj is initially 0 ( j = 1, . . . ,n). Each time a process pi sends a message
m, the ith element Vi is incremented by one. Then, the message m carries the vector
V (m.V ) of the sender process pi. On receipt of a message m from another process,
Vk := max(Vk,m.Vk) (k = 1, . . . ,n, k ̸= i) in a process. Here, for a pair of vectors A =
⟨A1, . . . ,An⟩ and B= ⟨B1, . . . ,Bn⟩, A≤B iff A j ≤B j ( j = 1, . . . ,n). A message m1 causally
precedes another message m2 (m1 → m2) iff m1.V ≤ m2.V . A message m1 is causally
concurrent with another message m2 (m1 ∥ m2) iff neither m1 → m2 nor m2 → m1.

An example of a table:

Table 1. Performance for different systems.
Range 10 15 20 25
Range 10 15 20 25
Range 10 15 20 25

An example of a figure. Note that the resolution of pictures should be at least 300
dpi so as to maintain printing quality.

Fig. 1. Resolution of pictures should be at least 300 dpi.

Refer to figures and tables like Fig. 1 and Table 1.
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3. CONCLUDING REMARKS

We provide an example for using the LATEX Template of the Journal of Information
Science and Engineering. Any questions or bugs can be sent to the editor.
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